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1.The Low Level Filters are child classes of the _______ global class and handled by the _______ 

Management Module. 

A.Operation Context, Alarm Handling FM 

B.Domain, Alarms FM 

C.MCC, Event Filtering FM 

D.TeMIP, Framework FM 

Answer:C  

2.What is the directive that enables the reception of events corresponding to a specific entity? 

A.notify 

B.getevent 

C.summarize 

D.subscribe 

Answer:B  

3.Based on directive cascading, what is the alarm collection chain? 

A.RESUME OC + NOTIFY DOMAIN + GETEVENT entity 

B.CREATE AO+ GETEVENT entity 

C.CREATE entity + DISPATCH event + LISTEN event 

D.ENABLE OC 

Answer:A  

4.An event can be lost in TeMIP if _______. Select TWO. 

A.no GetEvent has been issued for the managed object of this event 

B.there is no Real Time View monitoring the managed object of this event 

C.a Low Level Filter discarded this event 

D.the connection with the Oracle database has been lost 

E.a security profile has blocked the collection of this event 

Answer:A C  

5.The Notify is a directive of the _______ class and is handled by the _______ Management Module. 

A.notification, Notification FM 

B.domain, Domain FM 

C.domain, Notification FM 

D.entity, Notification FM 

Answer:C   


